Tableaux des Puissances de Dix (I)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (I) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 6 000 0,6 600 60 000
51 306 000 30,6 30 600 3060000
47 282 000 28,2 28 200 2820000
1 6 000 0,6 600 60 000
77 462 000 46,2 46 200 4620000
55 330 000 33 33000 3300000
X 0,04 0,4 0,004 40 000
79 3,16 31,6 0,316 3160000
80 3,2 32 0,32 3200000
73 2,92 29,2 0,292 2920000
70 2,8 28 0,28 2 800000
64 2,56 25,6 0,256 2560000
X 0,0005 0,05 0,005 0,5

17 0,0085 0,85 0,085 8,5

22 0,011 1,1 0,11 11

3 0,0015 0,15 0,015 1,5

33 0,0165 1,65 0,165 16,5
66 0,033 3,3 0,33 33

X 40 0,0004 400 0,004
88 3520 0,0352 35200 0,352
32 1280 0,0128 12 800 0,128
45 1800 0,018 18 000 0,18
82 3 280 0,0328 32 800 0,328
35 1400 0,014 14 000 0,14
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